Sponsor Peach 1 Bopp

#### **RESOLUTION NO. 15-23**

A RESOLUTION AUTHORIZING EXPENDITURE OF FUNDS FOR PAYMENT TO G&J PAVING, INC. PURSUANT TO A "THEN AND NOW" CERTIFICATE IN THE AMOUNT OF \$26,979.03 AND DECLARING AN EMERGENCY.

WHEREAS, the legislative authority of the City of Jackson, Ohio, pursuant to Ohio Revised Code Section 5705.41(D), finds that sufficient sums existed then and do so now exist for the payment of the expense in the amount of \$26,979.03 to the G&J Paving, Inc. as requested by the issuance of a "then and now" certificate from the City Auditor; and

WHEREAS, legislative authority of the City of Jackson, Ohio, now desires to approve the "then and now" certificate.

# NOW, THEREFORE, BE IT RESOLVED BY THE COUNCIL OF THE CITY OF JACKSON, STATE OF OHIO, as follows:

- <u>Section 1.</u> The Jackson City Council hereby authorizes and approves the expenditure as set forth in the Auditor's Certificate and the materials attached hereto and made a part hereof.
- Section 2. This Resolution is hereby declared to be an emergency Resolution necessary for the immediate preservation of the public peace, health or safety of the City of Jackson, and for the further reason that the Jackson City Council must act promptly in approving the Then and Now Certificate to allow for prompt payment and the avoidance of additional charges. Therefore, this Resolution shall go into effect upon passage and approval by the Mayor as provided in Ohio Revised Code Section 731.30.
- Section 3. In the event this Resolution receives a majority vote for passage but fails to receive the required number of votes to pass as an emergency, then this Resolution shall be deemed to have passed but with no emergency clause and shall take effect at the earliest time permitted by law.

It is hereby found and determined that all formal actions of this Council relating to the adoption of this Resolution were adopted in an open meeting of this Council, and that the deliberations of this Council that resulted in such formal actions were in a meeting open to the public in compliance with all legal requirements, including Section 121.22 of the Ohio Revised Code.

PASSED AND ADOPTED by the Legislative Authority of the Political Subdivision on this day of 2000, 2023.
President of Council
ATTEST:
Approved this Aday of Jehman, 2023.
Mayor Mayor

### THEN AND NOW CERTIFICATE

It is hereby certified that, pursuant to Ohio Revised Code Section 5705.41(D), that at the time of the making of such contract or order and at the time of the execution of this certificate, a sufficient sum was appropriated for the purpose of such contract and in the Treasury or in the process of collection to the credit of an appropriate fund free from any previous encumbrance.

The taxing authority has thirty (30) days from the receipt of this certificate to approve for payment by resolution; otherwise this certificate becomes null and void and there is no legal liability on the part of the City or the taxing authority.

Date of Certificate:	2-27-23	
Line Item #:	234-7610-54004	
PO #:	2023000515	
Invoice #:	4737	
Invoice Date:	1-12-23	
Amount:	\$26,979.03	
Vendor Name:	GOJ Paving, Inc.	
Resolution #:		
Date & Page in City Council Minutes:		
REASON: Previ	ious PD already closed	
Requested by & Ti	<del>L. Executive Assistant</del> tle	
City Auditor		Date Certified

G & J Paving, Inc. 379 Seney Road Chillicothe, OH 45601 US (740) 773-6458 tisha@gjpaving.com

### **INVOICE**

**BILL TO** 

City of Jackson Ohio 145 Broadway Street Jackson, OH 45640

DESCRIPTION City of Jackson Street Project Striping	QTY	RATE	AMT
Stop Line 24" Crosswalk Line 8' Center line 4' Double Yellow Railroad Symbol Marking Edge Line 4"	688	8.65	5,951.20
	3.35	707.00	2,368.45
	1.38	8,501.00	11,731.38
	770	5.00	3,850.00
	0.90	3,420.00	3,078.00

BALANCE DUE

\$26,979.03

5	Addition (1991)	ř
è		Ġ
s	The state of the s	1
ı	I MANAGEMENT PARTICUL PROPERTY	ñ
ш		ŀ
31	and determine a server and the serve	3
u	Charles and the Control of the Contr	ŝ

## ireceiving/form

City of Jackson, Ohio

1 2		Market State of the State of th	医外外侧侧 医神经		<b>建设设施设置的</b>				STREET,	h si kasilisa Albanasi
1 23	315 (C)	TOTAL CONTRACTOR CONTRACTOR CONTRACTOR	THE STATE OF STATE	<b>建设设施的电路的设施的</b> 员	加坡的运行。1878年					And the second second second
			1. A. S.	作。	<b>建设设置,通过设置</b>	在16000000000000000000000000000000000000	MARKE MAKING		2440	24 PK 27 30 M
120	alt 🖰 🖄	Feb 27, 2023			到达前。1985年1月1日	<b>在一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个一个</b>		a R A A S A S A S A S A S A S A S A S A S	er 2023000515	23.45
S. A			Land Street	<b>14. 16. 1. 16. 16. 16. 16.</b>	件。 经制度 计记忆 计通信记录	<b>"我们们是我们的</b>	A CONTRACTOR OF THE	A STATE OF THE STATE OF		
	one till	CONTRACTOR OF THE SECOND		<b>建筑 计数据 经基础</b>	A COST C COST OF	UNITED TO THE		TATE OF THE PARTY		
學。以	of ON	Market Art St. Co.		and the sales was the	<b>3.7</b> 的 是一个	AVERAGE CLASS STREET	And the state of t		APPENDED TO THE STATE OF THE S	<b>可能的数据并是可能的现在</b>
	10.4	<b>网络林老女</b>	4-24-16	A-14 Sagar		lia está de la la	elle de la companya			
		ing a salah sa Antara bara salah sa	and the second	A references	enter in the second		eriki karaji di dan eri			
P.	اعدد	ved Erom	Z O LIBAVA	ie iNa		<u>Karangan</u>	ekisteriye de essen Territ			7 (1 (1 (1 (1 (1 (1 (1 (1 (1 (1 (1 (1 (1
Re	ecei	ved From	G&JPAVI	NG/ING		<u> 1                                   </u>				7 19 19 19 19 19 19 19 19 19 19 19 19 19

Quântity	Description	Line#	Unit(Price	Total Cost
	GTY OF JACKSON STREET PAVING STRIPING		26,979,03	26/979/03
	INVOICE # 47.37			
No. of the second secon				
		7317945	Tax and a same	
				The services of
4 (10 C) (4 (20 C))		77.07.07.07.00		
A State New York State		1 / / / / / / / / / / / / / / / / / / /		
				E STORY
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			***	
			10 A	
		Total	26,979,03	

Received By: Date

TRACIPLANTS JURIS JURIS Feb 27, 2023

Approved By: Date

Umu Umu Umu Umu Umu Umu Umu 2, 2, 2, 2, 2, 3.

•				
# •				
:				
f				
:				
	<i>,</i>		-	